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The measure of an inscribed angle is half the
measure of its intercepted arc. 3
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1. Given OGP with inscribed angle £, if
mRT = 47, what is m£S?

Ml S = 5 ()
=235°




A. If mDG = 45.6, what are mZE and mZF?
mLE= 2.9

m L §F =238




B. If ﬁ is a semicircle, what is mZRST?

m{ RST= 90°




C.Iif mABC = 184 and mBCD = 242, what are the measures
of the angles of quadrilateral ABCD?

SOLUTION




2.a.1fmRST = 164, whatis mZRV T?

&2°

b. f m£SPU = 79, whatis mSTU?
|59



Two inscribed angles that intercept the same arc
are congruent.




For questions 11-15, use the f:gure below. Find each
measure.

11. mFG = /00°
12. m<FEG = So°

13. mEH = Lo

14. m«£EFH = 50°

15. msFGE =50



An angle inscribed in a semicircle is a right angle.

If... mRS = 180

r

Then... m£ZT = 90



The opposite angles of an inscribed quadrilateral
are supplementary.
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Then... mZR+ m4LT = 180
m£ZS + msZU = 180



In the diagram below, BD is a diameter of the circle with
center O. Points A, B, C, and D are on the circle.

mcel .
Yo
ml 2 =6&

mdS:g}{

meY = SC?D

mes = 40°

me ¢, '—'D‘(

wel=z S8

fl

H

mi 3

If measure of arc AB = 100°, find the measure of as many

possible numbered angles as possible.



In the diagram below, BD is a diameter of the circle with
center O. Points A, B, C, and D are on the circle.

——
MAYS = wo°
mRe = ioP
MZB —
M@ = job°

Given the two measures m«£1 = 55° and m«2 = 50°, find
the measures of the four minor arcs AB, BC, CD, and DA.



4) mZPOR =100°

mﬁ= 100°
mZPSR = &5°

S) mLABC =70°, mBC=100°  6) AT is a diameter,

mAC=14" msC= bo® mRT =86°
mZA=56° mAB= 120° miAd= Y msZR= %°
msT =47 mAR= 9Y
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The measure of an angle formed by a tangent

and a chord is half the measure of its intercepted
arc.

If...

Then... mZAED = %mABE



3. a. Given BD tangent to ©F at point C, if
mAC = 88, what is m£ZACB? = 44°

b. Given EG tangent to ©F at point F, if
mZGFC = 115, whatis mFAC ? 2 50°
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4. a. Given WY tangent to oC at point X, what 50°
is mXZ? [0 Y 196°

b. What is mZVXW? = %2°



